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OCR AS Biology exam practice answers

10 Diet and food production

1
(a)
The percentage of children increases from 2000 to 2010, from about 14.5% in 2000 to 20% in 2010. 
[2]

(b)
Fats, carbohydrates and proteins, eaten in excess. 
[3]

(c)
Obesity increases blood pressure and is linked to high blood cholesterol levels. High blood pressure damages the lining of the arteries. A split in the lining exposes the receptors for LDLs, so fatty substances/LDLs are laid down in the split. The build-up thickens the wall of the artery, which reduces the diameter of the lumen. 
[7]
2
(a)
Suitable temperature (25–30°C); sufficient nutrients; neutral pH; sufficient oxygen. 
[3]

(b)
(i)
It is fast growing so that production is rapid. The supply can be matched to the demand. It uses almost any organic matter and can be grown on waste. Supplying nutrients is not a problem, which makes it cheap. It gives a high protein yield with all the essential amino acids present, so it is a good source of protein. It is suitable for vegetarians and low in (saturated) fat, so it is healthy. 
[7]


(ii)
The conditions are ideal for microorganism growth — any microorganism can grow in the tanks. Other microorganisms would compete for nutrients, reducing production and possibly producing toxins. 
[3]
PAGE  
Hodder Education © 2013
1

[image: image1.jpg]